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1) sin 112°2¢!, 2) cos 99° 25' 35",
3) tan 108°48' 36", 4) cot 140° 40',
3/ WTAIEHRER R 2 F BB
1) sin 121°40', 2) sin 163°35', 3) cos 158°17,
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9. cos (90°—a) +cos (90°+a),
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11, cos (180°—a) « sin (90°+a) = tan (180°—a)
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5) sin 38° 30/,

7) sin 11° 50',

1) tan 20°,

3) tan 85°,

5) tan 17° 42,

7) tan 20° 48',

9) tan 85° 28',
11) tan 89° 48',

1) cos 65°,

3) cos 30°,

5) cos 38° 30/,

7) cos 61° 10,

9) cos 2° 5%,

1) cot 20°,

3) cot 37° 30!,

5) .cot 69° 13',

7) cot 88° 15',

9) cot 2° 27,
11) cot 1° 53,

8) sin 69° 24',
8) sin 87° 1¢',
2) tan 45°,
4) tan72° 3¢/,
6) tan 53° 138,
8) tan 83°7',
10) tan 88° 30/,
12) tan 89° 69,
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10) cos 1° 20",
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6. 1) tan a=04452,"

1) sin a=0,3420,
3) sin 7=0,842,
5) sin y=1,0024,

3) tan r=2,675,
5) tan y=5558,

2) sin f=0,5948,
4) sin %=0,9293,
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7) tan =042,
9) tar w=6.63.

8) tan v=129,

7. 1) cos a=0.891, 2) cos f=0.910,
3) cos 7=0.6361, 4) cos x=1.0008,
6) cos ¥=0.8189, 6) cos 2=0,4485,

8, 1) cot a=2747, 2) cot f=0.4142,
3) cot 7=1.768, 4) cot x=1,4948,
5) cot y=0.69486, 6) cot z=1,6945,
7) cot u=7.115, 8) cot v=10,23,
9) cot w=20,
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9, sin105°,sin 172°8', sin 140°15', sim 115°22',
10, cos118°, cos156°30', cos98°42', cos 169°17'.
11, #an121°, tan160°24’', tan101°41', tan147°3Y.
12, cot 175°, cot 124°30', cot171°18', cot111°11'.
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